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operaciones combinadas con matrices cuadradas

Dadas las matrices:

3 -1 2 -2
A=[(1 1 o0 B=|1
0 2 =2 -1
Efectua:
a) 4+B)-C
b)AU-Cc1+B-cH-C
c)A-C1-B+C
dA-B+B?»-Cc!
e) (B+4)-Cc1+B-Cc!
Resolucion
3 -1 2 2 2 2 1 0
D A+B)-c=|[1 1 o]+|1 3 =1|[|l0o O
2 =2 -1 1 1 0 1

2 2
3 -1
1 1
1 1 1
-11=(2 4
0 -1 3

S O M

b Ad-clt+B-chH-c=A - ¢t c+B-¢1-C)=A-I+B-I=A+B=

¢) Hallamos C—1:

1 0 1|1 0 0\ a» 1 0 1]1 0
110 1 0| G 0 1 00 0
01 0|0 0 1] @ 0 -1/0 1
1 ol1 1 1 1 0
1 0 1| - ¢c?t=]o0 1
0 110 -1 0 -1 0
3 -1 2\/1 1 0\ /-2 2
A-cl'-B+c=[(1 1 olfo o 1|1|1 3
0 2 =2/\0 -1 o/\-1 1
3 1 1\ [=2 2 2 1 0
=[{1 1 1|1 3 =1|+[0o o0
0 2 0of/\-1 1 1 0 1
-6 10 6 1 0 1 -5
=[-2 6 2]+|0 0 -1|=|=2
2 5 2 0 1 0 2
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1 1

d A -B+B) -Ccl'=UAU+B)-B-Ccl=|2 4
-1 3

1 1 4\ (=2 -4 2

=2 4 1|1 2 3

-1 3 -1/\-1 =2 1

e) B+A -Ccl+B-cl=2B-Cr+4-Ccl=2"

4\ (=2 2 2
-1{{1 3 -1
1f\-1 1 1

-5 -10 9
=1 2 15
6 12 6
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